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Multiple choices 66"
1-C 2-D 3-C 4-D 5-D 6-B  7-D 8-B
9-A 10-D 11-D 12-A 13-B 14-B 15-A 16-D-
17-C- 18-B 19-A 20-B - 21-D 22-A

PEOBLEM 34"

ending inventory

1-Day sale in inventory = or =23 = 1;928
24 = 1.1557
_Costof Good Sold —93 — 10500000 _
2-Inventory turnover e e s 23 S TIR0E N0 .,83832
_ 12525000 _
24 = Te2z5000  — V-82266

3-Working capital = current assets —Current liabilities=
23= 15575525 - 18575000 = —2.999475

24= 17575000 — 20575000 = 3.000.000

cA 15575525

4- Current ratio = m 23 = 18575000 =.,,83852
_ 17575000 _
24 = 20575000 =.,85419

CA—Inventory 23 15575525 -12525000

CiLiabilities 18575000 =0.164227

5- Acid-test, ratio =

17575000-1525000 _
24- S0 000 =0.7800729

6-Casf ratio = Cash & cash equivalent + Marketable Security
Current liabilities

23 =_15575000 + 12525575 = 1.512
18575000

24 = 20525000 + 10750500 = 1.512
18575000

7- Sale to working capital ratio = Sale
+ Average W Capital

23= 15575000 = 1.23856
18575000

24= 16450000 = 1.216
13525000
It’s the end
Dr: merhi



